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double avgBeginToEnd (double data[], int begin, int end, double ubound)
nnpPn ,Size Y732 0 w-oK 021907 YW TN - data nX 2P "D NAPH PP
DR 12 o°R¥AN ubound n wian @2IVP TIYAT IR YR DR T end -1 begin
" a1 . ( end-1 begin nupna ooR¥NIT 0°07vn 990) end  opn? begin

.begin<end
~1 mn epnoi ubound oo W o°917a end  begin 1°2 ovvonT Yo o

.double »on oanwn av 7712va PIT YW NPYAN MOVNT

NT
mxpnon avgBeginToENnd([3.2, 4.5, 12.1, 5.0, 7.2, 21.0, 17.3],2,5,19.5) nxp2
Toonm ,12.1, 5.0, 7.2 o7 4-% 2 nmmpna 72 2oona 03 12'1+53;0+7'2 =8.1 N

.19.5 n 2173 RIW 100 Nawna nph X7 ,21.0 ,owenna opna
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double avgBeginToEnd (double data[], int begin, int end, double ubound)
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const int N=100; TTAAY 17012
SPXPIDT DR 12ND

int sumDifDig(int data[][N], int size, int absDiff)
,Size*size 9712 data v TRR-1T YR UDR WRTED  Nvapn  XpeT
o»pan absDiff obw apomy ,(nroes M7y N s7an-17 7wn?) 0 <size <N WD

-w 90 data[i][j] o2k 95 owo nR vmat epnon By . 0 <absDiff <size
|i = j| = absDiff

AN
0PI MY

1 3 2 7 0
-1 -2 2 17 -5
data=| 2 2 1 -4 -3| size=5 absDiff =2
o o0 1 7 17
-2 8 -2 2 8

2w 0 12 1o nR YA

data[0][2] + data[1][3] + data[2][4] + data[2][0] + data[3][1] + data[4][2] =
(-2)+17+(-3)+2+0+(-2)=12

TOXPI9T 20 0V W DY 17090
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int sumDifDig(int data[][N], int size, int absDiff)
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void arrange(int numArr[], int size)
Size 1270 WK (22°%WY 020211 ,0°09R) DOMPW D20 YW IR K TR UHPD NYapni
.(2rn obw)
OR) D°0DRIT 92 WD TIWNA DNWRIT NINPRIY T TIWNT IR 170 DR TIWN RPN
VYR TV DR TIWR PEPIOT) DORD DONWT TIWAT IR INRY O°RAT NpnaY (21w
L0DRA DONW TIVNT 2R HW om0 1707 Mwn PR .(numATrT
:0RNT
numArr=[-3,1,-4,7,8,0,2,0,-2,-1,0] 7ovna M2y
.[0,0,0,-3,-4,1,7,-2,2,-1,8] 777 K17 7°8p1107 YW WHR 099
VW NI DY LSIZE -2 IRO1H XY AT NOND MaY P Papn XN TPt L1wn

.Size -2 2790 1RW V1P >7°-5Y non
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void arrange(int numArr[], int size)
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int partSum(int numbers[], int n)
NR 770 L, (52190 O%w) NORTIA DRI 00901 W numbers TIvn vpa NPapn TOXpIDT
.(N=1 oR DOR NPAY 72N AT D10) NWRIT 2RI VYN TIYNA O°I1R7T D100
DINDNT
14=7+2+3+2 min 7xpnon numbers=[2, 7, 2, 3, 2] My

.0 7m0 epnon numbers=[2] May
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int partSum(int numbers|[], int n)
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bool exactlyN(int arr[], int size, int num, int repeats)
X730 12 (0210 OYW) SiZe 19TIA NRY D°ADW 0°1901 YW arr TIyn vopa NYapn 1UXpoa
Y91 NUM O true 2 mnb 12°7% LPN0;T repeats °21n 2w 9901 NUM 11901 NPaPN
.nank false -1 oays repeats P72 arr 77vna
MIRRT
S7vna oonyo 3 yoowa 2-w v true avinn exactlyN([3,2,4,2,3,2,9,-2],8,2,3)
Swna oovem 5 R 2-5w 1o false 2vn exactlyN([3,2,4,2,3,2,9,-2],8,2,5)
YR yom R? 7-w 1110 false avnn exactlyN([3,2,4,2,3,2,9,-2],8,7,3)
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bool exactlyN(int arr[], int size, int num, int repeats)
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const int MAX_NAME_LEN=100;
const int MAX_NUM_OF_AGES=30;
SIOWN MXMH IR ANTATT 71N

struct family

{

char name[MAX_NAME_LEN] ; //anownn aw

int size ; // (0% NY7% 912°) ANdOWNHA 027777 NOON

int agesIMAX_NUM_OF_AGES] ;//anowna 0>72°7 "X
Y

17 ages TIvanw nhan 1001 R

PXPII9T DX 120D
int countAbove(struct family families[], int size)
(0211 O%Ww) size W27 DRI Mndown N R nIMwa Hw families 7avn nhapn Epnon

18 99 (9910 RD) Hyn 7nR 79° nIN9? 1hW MINOWnT 1901 DX 19D 3TN RPN
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int countAbove(struct family families[], int size)
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